

| BID |) TAB: 07-IFB-CNP-2122 Non-Food Iter | | Gulf Coast Paper 635 Billy Mitchell Brownsville, TX 78521 Gary Ellis 800-460-3297/gary.ellis@imperialdade.com | | Southwestern Mill Distributors, Inc. 310 N. Dallas St. El Paso, TX 79901 Sean Sterling 915-532-4693/seans@swmill.net | | |
|------|--|-------------|--|-----------|--|-----------|---------------|
| ltem | Description | Case Size | Requested Quantities | Unit Cost | Extended Cost | Unit Cost | Extended Cost |
| 1 | Parchment Baking Paper/Liner Sheet, to fit 16"x26" sheet pans, white, packed 1000 ct. | 1000 | 1,000 | \$57.00 | \$57,000.00 | \$43.55 | \$43,550.00 |
| 2 | Plastic Film, 24" PVC Cling Film, in dispenser box with serrated edge, packed 2000 ft. | 1/2000 ft | 1 | \$26.54 | \$26.54 | \$29.27 | \$29.27 |
| 3 | Plastic Film, 12" PVC Cling Film, in dispenser box with serrated edge, packed 2000 ft | 1/2000 ft | 1 | \$13.94 | \$13.94 | \$14.25 | \$14.25 |
| 4 | Aluminum Foil, pop-up sheets, 9"x10-3/4" packed 6/500ct. | 6/500 ct | 2,000 | \$68.50 | \$137,000.00 | \$75.00 | \$150,000.00 |
| 5 | Aluminum Foil, heavy weight, .001 gauge, 24", in dispenser box with serrated edge, packed 1000 ft/roll. | 1/ 1000 ft | 1 | \$36.58 | \$36.58 | \$96.35 | \$96.35 |
| 6 | Beard Cover, white, spun-bonded, packed 100 ct. | 1/100 ct | 100 | \$30.00 | \$3,000.00 | \$5.23 | \$523.00 |
| 7 | Bag for Ice, clear, unprinted, drawstring closure, poly, 10 lb capacity, packed 1000 ct | 1/1000 ct | 1000 | \$63.33 | \$63,330.00 | \$86.98 | \$86,980.00 |
| 8 | Brown Hair Net 100/ct 10 bags / cs | 10/100 ct | 1000 | \$176.00 | \$176,000.00 | \$175.00 | \$175,000.00 |
| 9 | Bouffant Cap, 24", white, fire retardant, packed 100 ct | 100 ct | 100 | \$66.47 | \$6,647.00 | \$72.00 | \$7,200.00 |
| 10 | Food labels, SHELF LIFE LABELS 4" X 2" , FREEZER GRADE 500 LABELS PER ROLL | 500/roll | 500 | No Bid | No Bid | \$14.00 | \$7,000.00 |
| 11 | Bun Rack Covers, plastic, 52"x80", minimum .0005 mil, packed 50 ct | 50 ct | 50 | \$22.60 | \$1,130.00 | \$23.50 | \$1,175.00 |
| 12 | Gloves - Small, food handling, single use, clear, plastic, poly textured, wrist length, packed 100 ct. | 10/100ct | 1,000 | \$20.00 | \$20,000.00 | \$24.00 | \$24,000.00 |
| 13 | Gloves - Medium, food handling, single use, clear, plastic, poly textured, wrist length, packed 100 ct. | 10/100ct | 1,000 | \$32.00 | \$32,000.00 | \$24.00 | \$24,000.00 |
| 14 | Gloves - LARGE food handling, single use, clear, plastic, poly textured, wrist length, packed 100 ct. | 10/100ct | 1,000 | \$32.00 | \$32,000.00 | \$24.00 | \$24,000.00 |
| 15 | Gloves - Extra Large, food handling, single use, clear, plastic, poly textured, wrist length, packed 100 ct. | 10/100ct | 1,000 | \$20.00 | \$20,000.00 | \$24.00 | \$24,000.00 |
| 16 | Paper Towel rolls, perforated, white, Handi-Size | 30 rolls/cs | 750 | \$31.36 | \$23,520.00 | \$34.00 | \$25,500.00 |

| 17 | 10418 REG WT POLY APRON 28X46 5/100 | 5/100 | 75 | No Bid | No Bid | \$71.00 | \$5,325.00 |
|----|---|---------|-------|----------|--|---------|--------------|
| 18 | 10403 HVY WHT EMB APR 28X46 5/100 | 5/100 | 75 | \$77.00 | \$5,775.00 | No Bid | No Bid |
| 19 | DP657 6.5X7 SADDLE SANDWICH BAGS 2000/CS | 2000 | 200 | \$11.62 | \$2,324.00 | \$12.10 | \$2,420.00 |
| 20 | BOR5280 52X80 HI-DENSITY BUN PAN RACK COVER 50/CS | 50/cs | 500 | \$22.60 | \$11,300.00 | \$23.50 | \$11,750.00 |
| 21 | 510161 6X9 GRN MED DTY SCRUB 3/20 | 60/cs | 150 | \$36.74 | \$5,511.00 | \$16.50 | \$2,475.00 |
| 22 | HR243308N 24X33 8MC NAT HI-D CAN LINERS 20/50 | 100/cs | 1,000 | \$32.63 | \$32,630.00 | \$34.00 | \$34,000.00 |
| 23 | PGR3858X3B 38X58 BLACK 1.5MIL LINERS 10/10 | 100/cs | 4,000 | \$31.79 | \$127,160.00 | \$38.00 | \$152,000.00 |
| 24 | 89460 ENMOTION WHT HI-CAPACITY ROLL TOWEL 6/800' | 6/cs | 700 | \$73.00 | \$51,100.00 | \$56.99 | \$39,893.00 |
| 25 | Bags, Freezer, Gallon Size 10 9/16 X 10 3/4 , 200 / case | 200 ct | 1,000 | \$41.00 | \$41,000.00 | \$21.00 | \$21,000.00 |
| | Non-food serving | | | | | | |
| 1 | Lunch Tray, 5 Compartment, laminated foam, BLACK, 8.25"x10.25", must withstand heat up to 200F, break resistant, FDA approved, meets Food Grade HACCP certification, packed 500 ct | 500 | 50 | \$32.50 | \$1,625.00 | \$34.65 | \$1,732.50 |
| | | | | | <i>,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</i> | | + -, |
| 2 | WHITE STYROFOAM TRAY 11X9X5/8 | 250 CT | 250 | No Bid | No Bid | No Bid | No Bid |
| 3 | 6in, Square Flat Lid, Clear, 360ct, Fits 32oz 4 compt. Takeout Container. | 360 | 360 | No Bid | No Bid | No Bid | No Bid |
| 4 | Container, 6" 32Oz 4 Compartment, Square Recycled Plastic Takeout Container, Clear, 360 Count | 360 ct | 360 | No Bid | No Bid | No Bid | No Bid |
| 5 | 9" Square Hinged Foam Container, 3 Compartment, white, must withstand heat up to 200F, break resistant, FDA approved, meets Food Grade HACCP certification | 150 ct | 150 | \$22.20 | \$3.330.00 | \$32.00 | \$4.800.00 |
| | Medium 3 Compartment Hinged, clear plastic, perimeter seal, snap closure, opening tabs with slip resistant grip, 8-1/4"x8-1/4"x3" | | | | +-, | | |
| 6 | packed 250 ct | 250 | 250 | \$110.46 | \$27,615.00 | No Bid | No Bid |
| 7 | Medium 2 Compartment Hinged, clear polyethylene clamshell container, approximately 9.38" x 6.75" x 2.81" perfect container for square sandwich & cookies, juice box & salad, lunch box | 300 ct | 300 | No Bid | No Bid | No Bid | No Bid |
| 8 | Large 1 Compartment Hinged, clear plastic, perimeter seal, snap closure, opening tabs with slip resistant grip, 8-7/8"x9-3/8"x3" | 200 ct | 20 | \$52.00 | \$1,040.00 | \$11.75 | \$235.00 |
| 9 | Box, Pizza Wedge Slice Holder, Carton, 7.5 x 7 x 1 7.5 x 7, packed 1000 ct. | 1000 ct | 1,000 | No Bid | No Bid | No Bid | No Bid |

| — | | | | | | | |
|----------|--|-------------|-------|----------|--------------|---------|--------------|
| 10 | Box, Pizza Slice, Plain White outside/Kraft Inside, 16" x 16" x 1 7/8" - B Flute - W/K Plain Box, packed 50 ct. | 50 ct | 50 | No Bid | No Bid | No Bid | No Bid |
| 11 | 5" Square Hinged Foam Container, 1 Compartment, white, must withstand heat up to 200⁰F, break resistant, FDA approved, meets Food Grade HACCP certification, packed 500 ct. | 500 ct | 500 | \$52.00 | \$26,000.00 | \$45.00 | \$22,500.00 |
| | Flatware Banquet Pack: individually wrapped full size, heavyweight fork, spoon, 5-3/4" straw, and 2-ply 13"x13" white napkin, made from polypropylene or polystyrene plastic, break resistant, FDA approved, meets Food Grade HACCP certification, packed 500 ct | 500 | 500 | \$23.38 | \$11,690.00 | No Bid | No Bid |
| 13 | MEAL KIT W/ BLACK FORK AND 13X17 NAPKIN 1000/CS | 1000 ct | 1,000 | \$50.00 | \$50,000.00 | No Bid | No Bid |
| 14 | Bags for Sack Lunch, paper, brown/kraft, with gusset, Heavy Duty, 6 lb. 4/ 250 ct | 4/250 ct | 1,000 | \$20.00 | \$20,000.00 | \$21.65 | \$21,650.00 |
| 15 | POLY BAGS 6.5X7+1.75 500/CS | 500 ct | 500 | No Bid | No Bid | \$12.10 | \$6,050.00 |
| 16 | POLY BAGS 6x3x12500/CS | 500 | 500 | \$19.45 | \$9,725.00 | \$22.82 | \$11,410.00 |
| | Non-food packaging, individual items | | | | | | 1 |
| 1 | 8 oz Offer vs Serve, black, 4-15/1"x3-5/16"x1-5/8", 12.5 mil, packed 1000 ct | 1/ 1000 ct | 1000 | No Bid | No Bid | No Bid | No Bid |
| 2 | 4oz Offer vs Serve Deep Tray, black, plastic, 3-1/2"x3-1/2"x1-1/4", 7.5 mil, packed 2500 ct | 1 / 2500 ct | 2500 | \$39.63 | \$99,075.00 | No Bid | No Bid |
| 3 | Souffle/portion Cup Lids F/3 1/4 To 4 Oz Cups, Clear, 2400/carton | 1/ 2400 ct | 2400 | \$47.00 | \$112,800.00 | \$64.00 | \$153,600.00 |
| 4 | PET Cup Inserts PF35C1 SINGLE COMPARTMENT CUP INSERT | 10/1000 ct | 1000 | \$99.50 | \$99,500.00 | \$43.00 | \$43,000.00 |
| 5 | Plastic Drink Cup, 12 oz Capacity, clear, packed 1000 ct. | 1/ 1000 ct | 1000 | \$121.41 | \$121,410.00 | \$72.45 | \$72,450.00 |
| 6 | Lid to fit 12 oz Clear Plastic Drink Cup listed above, clear, flat, without straw slot, packed 1000 ct | 1/ 1000 ct | 1000 | \$93.93 | \$93,930.00 | \$43.10 | \$43,100.00 |
| 7 | Lid to fit 9 oz Clear Plastic Drink Cup , clear, flat, without straw slot, packed 1000 ct | 1/ 1000 ct | 1000 | \$93.93 | \$93,930.00 | \$32.13 | \$32,130.00 |
| 8 | Plastic Drink Cup, 9 oz Capacity, clear, squat, packed 1000 ct | 1/ 1000 ct | 1000 | \$93.90 | \$93,900.00 | \$61.75 | \$61,750.00 |
| 9 | Polystyrene Portion Cups, 2oz, Translucent, 250/bag, 10 Bags/carton | 10/250 ct | 2500 | \$48.28 | \$120,700.00 | \$48.80 | \$122,000.00 |
| 10 | PET Plastic Soufflé Portion Cup Lids 2 OZ. | | 2400 | \$38.62 | \$92,688.00 | \$52.15 | \$125,160.00 |
| 11 | Portion Cup, 1 oz Capacity, clear, plastic, durable, crack resistant, packed 2500 ct. | 2500 ct | 2500 | \$77.00 | \$192,500.00 | \$34.00 | \$85,000.00 |

| | Lid to fit 1 oz Portion Cup, clear, plastic, snap closure, packed | | | | | | |
|----|---|-----------|------|----------|--------------|---------|--------------|
| 12 | 2500 ct | 2500 ct | 2500 | \$45.00 | \$112,500.00 | \$34.00 | \$85,000.00 |
| 13 | Portion Cup, 4 oz Capacity, clear, plastic, durable, crack resistant, packed 2500 ct | 2500 ct | 2500 | \$75.00 | \$187,500.00 | \$73.00 | \$182,500.00 |
| 14 | Lid to fit 4 oz Portion Cup, clear, plastic, snap closure, packed 2500 ct. | 2500 ct | 2500 | \$47.00 | \$117,500.00 | \$64.00 | \$160,000.00 |
| 15 | Portion Cup, 2 oz Capacity, clear, plastic, durable, crack resistant, packed 2500 ct. | 2500 ct | 2500 | No Bid | No Bid | \$48.80 | \$122,000.00 |
| 16 | Lid to fit 2 oz Portion Cup, clear, plastic, snap closure, packed 2500 ct | 2500 ct | 2500 | No Bid | No Bid | \$52.15 | \$130,375.00 |
| 17 | 8 oz Offer vs Serve, clear plastic, 4-15/1"x3-5/16"x1-5/8", 12.5 mil, packed 1000 ct. | 1000 ct | 1000 | \$37.26 | \$37,260.00 | No Bid | No Bid |
| 40 | Bags to fit sandwich/burger, brown/natural paper, unprinted, with clear window, approximately 5"x7", economical choice for hot and cold applications, 2000 per case | 2000 ct | 2000 | ¢02.00 | \$186,000,00 | No Bid | No Bid |
| 18 | | 2000 Cl | 2000 | \$93.00 | \$186,000.00 | ΝΟΒΙΟ | ΝΟΒΙα |
| 19 | Foil Cushion Wrap for Sandwiches/Burgers, no design or logo, for food handling to resist grease and moisture, approximately 12"x12" | 1000 | 3600 | \$145.00 | \$522,000.00 | \$85.00 | \$306,000.00 |
| 20 | Bags to fit sandwich/burger, Foil/Paper Honeycomb Insulated Wrap, 13" Length x 10-1/2" Width, Blue Check , must withstand heat up to 200⁰, 2/1000ct | 2/1000 ct | 200 | \$145.00 | \$29,000.00 | No Bid | No Bid |
| 21 | Parchment Baking Paper/Liner Sheet, to fit 8"x8", white, packed 1000 ct | 1000 ct | 100 | No Bid | No Bid | No Bid | No Bid |
| 22 | Lid to fit 12 oz Plastic Drink Cup, clear WITH straw slot, packed 1000 ct | 1000 ct | 100 | No Bid | No Bid | \$32.80 | \$3,280.00 |
| 23 | 12 oz. Compostable Soup Containers | 1000 ct | 3600 | \$137.00 | \$493,200.00 | No Bid | No Bid |
| 24 | LID, 12,16,32 OZ CMPSTBLE | 10/50ct | 500 | No Bid | No Bid | No Bid | No Bid |
| 25 | Round Clear Lid-32 oz. PRIMEWARE, 300 | 300 ct | 300 | \$90.31 | \$27,093.00 | No Bid | No Bid |
| 26 | TAN BOWL-32 OZ. PRIMEWARE 300 | 300 ct | 300 | \$87.60 | \$26,280.00 | No Bid | No Bid |
| 27 | Tray, Food, Paper, poly lined/coated, 1/2 lb, natural brown, packed 1000 ct. | 1000 ct | 1000 | \$34.00 | \$34,000.00 | \$27.50 | \$27,500.00 |
| 28 | Tray, Food, Paper, poly lined/coated, 1/4 lb, natural brown, packed 1000 ct. | 1000 ct | 1000 | \$31.00 | \$31,000.00 | \$20.00 | \$20,000.00 |
| 29 | 10 oz Bowl, round, clear plastic, 504 ct | 504 ct. | 504 | No Bid | No Bid | No Bid | No Bid |
| 30 | 12 oz Bowl, round, black plastic, 4-5/8"x1-3/16" packed 500 ct. | 500 ct | 500 | \$77.34 | \$38,670.00 | No Bid | No Bid |
| 31 | Lid to fit 12 oz bowl, clear plastic, flat, 4-5/8" packed 500 ct. | 500 ct | 500 | \$56.97 | \$28,485.00 | No Bid | No Bid |

| 32 | Fry Boxes / Fry Cups | 1000 | 500 | No Bid | No Bid | No Bid | No Bid |
|----|--|---------------|------|---|---|--|--------------|
| 33 | Jr. Fry Scoop 3.5 oz - Red Plaid print, 4 x 3.75 x 3.375 x 1.938 (front) 1.5 x 1 (side), packed 10/100 ct. | 10/100 ct | 1000 | \$75.00 | \$75,000.00 | \$41.95 | \$41,950.00 |
| 34 | Hinged Hot Dog, 400/ct | 400 ct | 400 | \$111.00 | \$44,400.00 | No Bid | No Bid |
| 35 | Large Sandwich Wedge, Hinged, clear plastic, 6-1/2"x3-3/8"x3- 1/8"packed 500 ct | 500 ct | 500 | \$73.41 | \$36,705.00 | No Bid | No Bid |
| 36 | SINGLE COMPARTMENT CUP INSERT for granola | 10/100 ct | 1000 | No Bid | No Bid | No Bid | No Bid |
| 37 | Bowls/Food Containers, 8 oz Capacity, Round, white laminated foam, packed 1000 ct | 1000 ct | 1000 | \$80.00 | \$80,000.00 | \$88.80 | \$88,800.00 |
| 38 | Bowls/Food Containers, 10 oz Capacity, Round, white laminated foam, packed 1000 ct | 1000 ct | 1000 | \$84.50 | \$84,500.00 | \$93.00 | \$93,000.00 |
| 39 | Lid to fit Bowls, 6 oz, 8 oz, 10 oz, & 12 oz Capacity, Round, clear plastic, no vent, packed 1000 ct. | 1000 | 1000 | \$46.90 | \$46,900.00 | \$52.50 | \$52,500.00 |
| 40 | Foil Bags to fit sandwich/burger, white paper with foil lining, unprinted, approximately 7"x7", must withstand heat up to 200F, packed 1000 ct | 1000 | 1000 | \$67.54 | \$67,540.00 | No Bid | No Bid |
| 41 | Portion Cup, 5.5 oz Capacity, clear, plastic, durable, crack resistant, packed 2500 ct. | 2500 ct | 2500 | \$88.00 | \$220,000.00 | \$77.50 | \$193,750.00 |
| | 4oz Offer vs Serve Deep Tray, clear, plastic, 3-1/2"x3-1/2"x1-1/4", 7.5 mil, packed 2500 ct (Also fits 5.5oz souffle cup) | 2500 ct | 2500 | No Bid | No Bid | No Bid | No Bid |
| 43 | spork kit | | 1800 | \$46.00 | \$82,800.00 | \$34.00 | \$61,200.00 |
| 44 | Sandwich bags, clear, fold over size 7x7 | 1/2000ct | 2000 | \$54.00 | \$108,000.00 | \$10.00 | \$20,000.00 |
| 45 | 8 oz foam drink cup | 1/1000 ct | 1000 | \$39.95 | \$39,950.00 | \$40.50 | \$40,500.00 |
| | | d Grand Total | | | | · · · · · · | |
| | | | | ote for 67 of the 86 items requested. | Note: Vendor provided a qu requested. | ote for 57 of the 86 items | |